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Section 1.5 Algebraicidentities
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(Example 1 ) ws e

Find the values of @ and b given that (2x + a)?> = 4x*> +12x +b. for all values of x.
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G+)*=a*+2abrb | (ax+a)” = UXTHIZX 44
4xt +4ax +a® = Uxtrizx o+

equate coefficients > Ya=l2 | a*=b

a=3 | (A=k
4=k
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(Example 2 )

If 3r2x — 3px + ¢ — 2 = 0 for all values of x, find ¢ in terms of p.

HeP
Sin-plfy (36-3p)x + (c-28) = Dx o
- P =0 c-12E" =0
3(:1"-"3’) =7}
tr=p
e=lp T cmAqk)
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( Example 3 )

c 1 _ A B
Given x+Dx—-2) (xx+1) + -2 2(;1':131;31;('35 of x, find the values
’““H‘ﬁ by £2D |l = A(X-2) + B(x+1)

(X+1X(X =) [ = AX—=24 + Bx +6

|| [ = (A»+8)x + (B-24)
equate OX + 1 = BRX + (B-24)

A+8=0 b-24=

fz-0% 4 B-2(-RB)=
B+rag =1
W=

e— B='7
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